Direction:
What will come in the place of question mark (?) in the given expression?

Question No.1

[16 x15 + 224 x 5] +5=?x 4

Options:

1.45

2.54
3.68
4.60

5. none of these

Answer : 68

Direction:
What will comein the place of question mark (?) in the given expression?

Question No. 2

12x6+24-360f5+160="7

Options:

1.55

2.76
3.85
4.45

5. none of these

Answer : 76

Direction:
What will comein the place of question mark (?) in the given expression?
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e Question No. 3
20% of (1/9216 + ?) =24
Options:

1.25
2.15
3.12
4.24

5. none of these
Answer : 24

Direction:
What will come in the place of question mark (?) in the given expression?

e Question No. 4
16 x ? + 36% of 250 = 410
Options:

1.25
2.15

3.20
4.48

5. none of these
Answer : 20

Direction:
What will comein the place of question mark (?) in the given expression?

e Question No. 5

(630 +35) x2+144=?x2
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Options:

1.45
2.65
3.90
4.95

5. none of these
Answer : 90

Direction:

In the following questions, two equationsnumbered | and Il aregiven.You have to solve both the equations and
give answer.

e Question No. 6
2
.x"+25x+154=0
2 b
ILy™ +27y +181=0
Options:

LIfx>y
2. fx<y
ifx=zy
4.1fx=sy

5. If x = y or Relationship between x & y cannot be established
Answer : If x =y or Relationship between x &amp; y cannot be established

Direction:

In the following questions, two equations numbered | and 11 aregiven.You have to solve both the equations and
giveanswer.

e Question No.7
2
.6x"+23x+10=0

IL2y?-3y-5=0
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Options:

LIfx>y
2. 1fx<y
3.fxzy
4.1fx=sy

5. If x =y or Relationship between x and y cannot be established
Answer : If x =y or Relationship between x and y cannot be established

Direction:

In the following questions, two equationsnumbered | and Il aregiven.You have to solve both the equations and
give answer.

e Question No. 8
2
.3x"-16x-12=0
2 _
IL2y"+1y+9=0
Options:

LIfx>y
2. fx<y
ifx=zy
4.1fx=sy

5. If x = y or Relationship between x & y cannot be established
Answer : If x &gt; y

Direction:

In the following questions, two equations numbered | and 11 aregiven.You have to solve both the equations and
giveanswer.

e Question No.9
2
.3x" =17x+10=0

ILy? 17y +52=0
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Options:

LIfx>y
2. 1fx<y
3.fxzy
4.1fx=sy

5. If x = y or Relationship between x & y cannot be established
Answer : If x =y or Relationship between x &amp; y cannot be established

Direction:

In the following questions, two equationsnumbered | and Il are given. You haveto solve both the equations and
give answer:

e Question No.10
L X% +16x+ 63=0
ILy?+2y-15=0
Options:

LIfx>y
2.lfx=zy
fx<y
4.1fx=sy

5. If x =y or the relationship cannot be established.
Answer : If x &It; y

Direction:
Answer the questions based on the information given below.

The table given below gives the information about number of people who registered for lucky draw (won + lost)

event in four different agencies. Some of the data is given while some are missing.
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Agencies | Total number | Percentage of number | Ratio of number
of people of people who won of males to that
who the lucky draw out of | of females, who
participated total number of lost lucky draw
in lucky draw | people who
contest participated

A 65% 4:3

B 140

C 100 3:2

D 90%

e Question No. 1

If the number of people who lost luck draw from agency A are 42, then find the total number of people who

participated in the lucky draw from agency A.

Options:

1.120
2.150
3.140
4.130

5.145

Answer : 120

Direction:

Answer the questions based on the information given below.

The table given below gives the information about number of people who registered for lucky draw (won + lost)

event in four different agencies. Some of the data is given while some are missing.
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Agencies | Total number | Percentage of number | Ratio of number
of people of people who won of males to that
who the lucky draw out of | of females, who
participated total number of lost lucky draw
in lucky draw | people who
contest participated

A 65% 4:3

B 140

C 100 3:2

D 90%

e Question No. 12

If the number of people who won from agency B are 8 less than the number of people who participated in agency

A and the number of males who lost from agency B are 15, then find the ratio of males to that of females, who lost

from agency B given that number of students who lost from agency A are 42.

Options:

1.5:3

2.15M
3.15:7
4.15:4

5.15:13

Answer : 15:13

Direction:

Answer the questions based on the information given below.

The table given below gives the information about number of people who registered for lucky draw (won + lost)

event in four different agencies. Some of the data is given while some are missing.
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Agencies | Total number | Percentage of number | Ratio of number
of people of people who won of males to that
who the lucky draw out of | of females, who
participated total number of lost lucky draw
in lucky draw | people who
contest participated

A 65% 4:3

B 140

C 100 3:2

D 90%

e Question No.13

If the number of males who lost in agency C are 12.5% of the number of people who participated from agency A,

then find the percentage of number of people who won in agency C given that number of females who lost in

agency Ais 18.

Options:

1.70%

2.75%
3.75%
4.80%

5.77%

Answer : 75%

Direction:

Answer the questions based on the information given below.

The table given below gives the information about number of people who registered for lucky draw (won + lost)

event in four different agencies. Some of the data is given while some are missing.
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Agencies | Total number | Percentage of number | Ratio of number
of people of people who won of males to that
who the lucky draw out of | of females, who
participated total number of lost lucky draw
in lucky draw | people who
contest participated

A 65% 4:3

B 140

C 100 3:2

D 90%

e Question No. 14

If total number of people who participated in agency D are 120% more than the number of people who participated

in agency C, then find the ratio of number of males to that of females, who lost the lucky draw in agency D, if 14

males lost in agency D.

Options:

1.3:4
2.7:8
3.7:4
4.7:6

5.11:4

Answer : 7:4

e Question No. 15

In an election there are a total of 4,000 registered voters out of which x% of voters did not cast their votes and 180

votes are declared invalid. The winner got 740 votes more than the losing candidate. The number of valid votes

received by the winner are 42% of the total registered voters. How many registered voters did not cast their vote?
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Options:

1.1200
2.1500
3.1350
4.1250

5. None of these

Answer : 1200

e Question No. 16

Each of the articles is marked 80% above its cost price and a 30% discount was given on it while selling. The selling
price of article A is Rs. 126 less than the selling price of article B. If the MRP of article B is Rs. 1080, then find out the

difference between the cost price of article A and B.
Options:

1.Rs. 80

2.Rs. 120
3.Rs. 150
4.Rs.100

5. None of the above

Answer : Rs. 100

e Question No. 17

‘A" and ‘B’ together started a business by investing their capitals in ratio 3:2, respectively. Nine months later, they
both invested Rs. 500 more. If at the end of one years, the profit was divided between ‘A" and ‘B" in the ratio 29:21,

respectively, then find the difference between the amounts invested by ‘A” and ‘B, initially.
Options:

1.Rs.150

2.Rs. 350



0D
ixam Pees @

3.Rs. 200
4.Rs. 120

5. None of these

Answer : Rs. 200

e Question No.18

5 positive numbers are written on a piece of paper. Sum of first 3 numbers is 60 and ratio of the 4th and the 5th

number is 2:3. If difference between the 4th and the 5th number is 14, then find the average of all the numbers.
Options:

1.26
2.20
3.25
4.23

5. None of these

Answer : 26

e Question No.19

Sunil invested Rs. “4x" in scheme ‘A’ offering simple interest of 25% p.a. and reinvested the interest earned from
scheme ‘A’ at the end of 4 years in scheme ‘B’ offering compound interest of 20% p.a. compounded annually. If total

amount received from scheme ‘B’ after 2 years is Rs. 4320, then find the value of “12x".
Options:

1.9500
2.9200
3.9000
4.9700

5. None of these

Answer : 9000
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e Question No. 20

Train ‘A’ running with a speed of 126 km/hr can cross a standing goods train of 4 times its length in 25 seconds. Find
the time taken by 500 metres long train ‘B’ which is coming from opposite direction of train ‘A’, with a speed of 10

m/s, to cross train ‘A’.
Options:

1.15 seconds
2.5 seconds
3.14 seconds
4.10 seconds

5. None of these

Answer : 15 seconds

e Question No. 21

The speed of current is 29 km/hr. If the speed of the boat in still water had been 17 km/hr more than the original

speed then it would take 6.2 hours to cover 310 km in downstream. Find the original speed of the boat in still water

(in km/h).
Options:

1.6
2.7
3.4
4.8

5. None of these

Answer: 4

e Question No. 22

(y+40) boys can do a piece of work in (z-20) days. (y-5) boys can do the same piece of work in (z+20) days. If (y+30)

boys can do the same piece of work in (z-12) days, then find out the value of ‘y'.
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Options:

1. 400
2.480
3.320
4.360

5. None of the above

Answer : 320

Question No. 23

‘A" is 4 years younger than ‘B and 6 years elder than ‘C’. If the present age of ‘B’and ‘D’ is 28 years and 20 years,

respectively, then find the ratio of present age of ‘C’ to present age of 'D".
Options:

1.9M
2.913
3.9:10
4.13:10

5. None of these

Answer : 9:10

Question No. 24

The ratio of the speed of boats ‘A" and ‘B’ in still water is 8:9, respectively. The speed of the current is 25% of the
speed of boat ‘A’ in still water. If boat ‘A’ takes 7.5 hours to travel 750 km downstream, then find the time taken by

boat ‘B’ to travel 210 km upstream and 330 km downstream. (Note: Both the boats are rowing in the same stream.)
Options:

1.2 hours
2.8 hours

3.6 hours
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4.12 hours

5. None of these

Answer : 6 hours

e Question No. 25

The average weight of five friends A, B, C, D and E is (x+8) years while the average weight of C and E is (x-8) kg. If
the weight of another person F is also added, then average weight of all of them is reduced by 7 kg. Find the value

of X’ if average weight of A, B, D and F is 92.5 kg.
Options:

1.97 kg
2.87 kg
3.92 kg
4.94 kg

5.89 kg
Answer : 87 kg

Direction:

Read the following passage car efully and answer the following questions based on the passage. Somewordsare
highlighted to help you answer a few questions:

The environment and ecology are intricately linked, forming the very fabric of life on Earth. Ecology is the study of
the relationships between organisms and their environment, encompassing the interactions between living
organisms and their physical surroundings. It delves into the complex web of interconnectedness, where every
organism, from the tiniest microbe to the largest predator, plays a vital role in maintaining the balance of

ecosystems.

Our environment, comprising the air we breathe, the water we drink, and the land we inhabit, sustains all life forms.
However, human activities have drastically altered this delicate balance, leading to widespread environmental
degradation and loss of biodiversity. Deforestation, pollution, climate change, and habitat destruction are just a few

of the pressing issues threatening our planet's health.

Addressing these challenges requires a concerted effort from individuals, communities, governments, and

businesses worldwide. Conservation initiatives, sustainable practices, and environmental policies are crucial steps
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towards safeguarding our planet for future generations. By understanding the principles of ecology and embracing

a mindset of stewardship, we can strive to restore harmony between humanity and nature.

Ultimately, the fate of our environment rests in our hands. Through collective action and a commitment to
sustainable living, we can forge a path towards a healthier, more resilient planet where both human and ecological

communities thrive in harmony.

Question No. 26
What is the primary focus of ecology?
Options:

1. Studying human behavior

2. Analyzing economic systems

3. Understanding the relationships between organisms and their environment
4. Investigating political structures

5. Exploring technological advancements
Answer : Understanding the relationships between organisms and their environment

Direction:

Read the following passage car efully and answer the following questions based on the passage. Somewordsare
highlighted to help you answer a few questions:

The environment and ecology are intricately linked, forming the very fabric of life on Earth. Ecology is the study of
the relationships between organisms and their environment, encompassing the interactions between living
organisms and their physical surroundings. It delves into the complex web of interconnectedness, where every
organism, from the tiniest microbe to the largest predator, plays a vital role in maintaining the balance of

ecosystems.

Our environment, comprising the air we breathe, the water we drink, and the land we inhabit, sustains all life forms.
However, human activities have drastically altered this delicate balance, leading to widespread environmental
degradation and loss of biodiversity. Deforestation, pollution, climate change, and habitat destruction are just a few

of the pressing issues threatening our planet's health.

Addressing these challenges requires a concerted effort from individuals, communities, governments, and

businesses worldwide. Conservation initiatives, sustainable practices, and environmental policies are crucial steps
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towards safeguarding our planet for future generations. By understanding the principles of ecology and embracing

a mindset of stewardship, we can strive to restore harmony between humanity and nature.

Ultimately, the fate of our environment rests in our hands. Through collective action and a commitment to
sustainable living, we can forge a path towards a healthier, more resilient planet where both human and ecological

communities thrive in harmony.

Question No. 27
Which of the following is NOT a significant threat to the environment?
Options:

1. Deforestation

2. Pollution

3. Climate change

4. Promotion of biodiversity

5. Habitat destruction
Answer : Promotion of biodiversity

Direction:

Read the following passage car efully and answer the following questions based on the passage. Somewordsare
highlighted to help you answer a few questions:

The environment and ecology are intricately linked, forming the very fabric of life on Earth. Ecology is the study of
the relationships between organisms and their environment, encompassing the interactions between living
organisms and their physical surroundings. It delves into the complex web of interconnectedness, where every
organism, from the tiniest microbe to the largest predator, plays a vital role in maintaining the balance of

ecosystems.

Our environment, comprising the air we breathe, the water we drink, and the land we inhabit, sustains all life forms.
However, human activities have drastically altered this delicate balance, leading to widespread environmental
degradation and loss of biodiversity. Deforestation, pollution, climate change, and habitat destruction are just a few

of the pressing issues threatening our planet's health.

Addressing these challenges requires a concerted effort from individuals, communities, governments, and

businesses worldwide. Conservation initiatives, sustainable practices, and environmental policies are crucial steps
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towards safeguarding our planet for future generations. By understanding the principles of ecology and embracing

a mindset of stewardship, we can strive to restore harmony between humanity and nature.

Ultimately, the fate of our environment rests in our hands. Through collective action and a commitment to
sustainable living, we can forge a path towards a healthier, more resilient planet where both human and ecological

communities thrive in harmony.

Question No. 28
How can individuals contribute to environmental conservation?
Options:

1. Ignoring sustainable practices

2. Overusing natural resources

3. Supporting deforestation

4. Embracing a mindset of stewardship

5. Polluting water sources
Answer : Embracing a mindset of stewardship

Direction:

Read the following passage car efully and answer the following questions based on the passage. Somewordsare
highlighted to help you answer a few questions:

The environment and ecology are intricately linked, forming the very fabric of life on Earth. Ecology is the study of
the relationships between organisms and their environment, encompassing the interactions between living
organisms and their physical surroundings. It delves into the complex web of interconnectedness, where every
organism, from the tiniest microbe to the largest predator, plays a vital role in maintaining the balance of

ecosystems.

Our environment, comprising the air we breathe, the water we drink, and the land we inhabit, sustains all life forms.
However, human activities have drastically altered this delicate balance, leading to widespread environmental
degradation and loss of biodiversity. Deforestation, pollution, climate change, and habitat destruction are just a few

of the pressing issues threatening our planet's health.

Addressing these challenges requires a concerted effort from individuals, communities, governments, and

businesses worldwide. Conservation initiatives, sustainable practices, and environmental policies are crucial steps
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towards safeguarding our planet for future generations. By understanding the principles of ecology and embracing

a mindset of stewardship, we can strive to restore harmony between humanity and nature.

Ultimately, the fate of our environment rests in our hands. Through collective action and a commitment to
sustainable living, we can forge a path towards a healthier, more resilient planet where both human and ecological

communities thrive in harmony.

Question No. 29
What is the overall tone of the passage?
Options:

1. Informative
2. Optimistic

3. Critical

4. Indifferent

5. Confrontational
Answer : Optimistic

Direction:

Read the following passage car efully and answer the following questions based on the passage. Somewordsare
highlighted to help you answer a few questions:

The environment and ecology are intricately linked, forming the very fabric of life on Earth. Ecology is the study of
the relationships between organisms and their environment, encompassing the interactions between living
organisms and their physical surroundings. It delves into the complex web of interconnectedness, where every
organism, from the tiniest microbe to the largest predator, plays a vital role in maintaining the balance of

ecosystems.

Our environment, comprising the air we breathe, the water we drink, and the land we inhabit, sustains all life forms.
However, human activities have drastically altered this delicate balance, leading to widespread environmental
degradation and loss of biodiversity. Deforestation, pollution, climate change, and habitat destruction are just a few

of the pressing issues threatening our planet's health.

Addressing these challenges requires a concerted effort from individuals, communities, governments, and

businesses worldwide. Conservation initiatives, sustainable practices, and environmental policies are crucial steps
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towards safeguarding our planet for future generations. By understanding the principles of ecology and embracing

a mindset of stewardship, we can strive to restore harmony between humanity and nature.

Ultimately, the fate of our environment rests in our hands. Through collective action and a commitment to
sustainable living, we can forge a path towards a healthier, more resilient planet where both human and ecological

communities thrive in harmony.
Question No. 30
Which of the following word is not similar in meaning to the word ‘resilient” as used in the passage?

Options:

1. Tough
2. Strong
3. Fragile
4. Flexible

5. Robust
Answer : Fragile

Direction:

Rearrange the following sentences which are jumbled, to form a meaningful paragraph and answer the questions
that follow it.

A. The pink tax perpetuates gender-based economic inequality, as women end up paying more for essential items

compared to men.

B. The issue of pink tax refers to the phenomenon where products and services marketed towards women are

priced higher than similar ones marketed towards men.

C. Addressing this issue requires systemic changes in pricing strategies and regulations to ensure fair and equal

treatment regardless of gender.

D. This discriminatory pricing is prevalent across various sectors, including personal care products, clothing, and

even services such as dry cleaning.

E. Despite efforts to raise awareness about this issue, the pink tax continues to disproportionately burden women

financially.
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e Question No. 31
Which should be the first sentence after rearrangement?
Options:

1E
2.B
3.F
4.D

5.A
Answer : B

Direction:

Rearrange the following sentences which are jumbled, to form a meaningful paragraph and answer the questions
that follow it.

A. The pink tax perpetuates gender-based economic inequality, as women end up paying more for essential items

compared to men.

B. The issue of pink tax refers to the phenomenon where products and services marketed towards women are

priced higher than similar ones marketed towards men.

C. Addressing this issue requires systemic changes in pricing strategies and regulations to ensure fair and equal

treatment regardless of gender.

D. This discriminatory pricing is prevalent across various sectors, including personal care products, clothing, and

even services such as dry cleaning.
E. Despite efforts to raise awareness about this issue, the pink tax continues to disproportionately burden women
financially.
e Question No. 32
Which should be the last sentence after rearrangement?

Options:
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1F

2.E
3.A
4.D

5.C
Answer: C

Direction:

Rearrange the following sentences which are jumbled, to form a meaningful paragraph and answer the questions
that follow it.

A. The pink tax perpetuates gender-based economic inequality, as women end up paying more for essential items

compared to men.

B. The issue of pink tax refers to the phenomenon where products and services marketed towards women are

priced higher than similar ones marketed towards men.

C. Addressing this issue requires systemic changes in pricing strategies and regulations to ensure fair and equal

treatment regardless of gender.

D. This discriminatory pricing is prevalent across various sectors, including personal care products, clothing, and

even services such as dry cleaning.

E. Despite efforts to raise awareness about this issue, the pink tax continues to disproportionately burden women

financially.

Question No. 33

Which should be the third sentence after rearrangement?
Options:

1.C
2.F
3.A
4.E

5.B
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Answer: A

Direction:

Rearrange the following sentences which are jumbled, to form a meaningful paragraph and answer the questions
that follow it.

A. The pink tax perpetuates gender-based economic inequality, as women end up paying more for essential items

compared to men.

B. The issue of pink tax refers to the phenomenon where products and services marketed towards women are

priced higher than similar ones marketed towards men.

C. Addressing this issue requires systemic changes in pricing strategies and regulations to ensure fair and equal

treatment regardless of gender.

D. This discriminatory pricing is prevalent across various sectors, including personal care products, clothing, and

even services such as dry cleaning.

E. Despite efforts to raise awareness about this issue, the pink tax continues to disproportionately burden women

financially.

Question No. 34
Which should be the second sentence after rearrangement?
Options:

1.C
2.F
3.E
4.A

5.D
Answer: D

Direction:

Given below isa sentence that may havean error. Theerror if any, will bein one part of the given sentence. Choose
the part from the options given below the sentence, which containstheerror. If thereisno error, choose option e
‘noerror’.
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e Question No. 35

The Stockholm Peace Research Institute's (SIPRI) annual report on the international arm market, released last

month, compared two periods: 2018-2022 and 2019-2023.
Options:

1. The Stockholm Peace Research Institute's (SIPRI)
2. annual report on the international arm market,
3. released last month, compared

4. two periods: 2018-2022 and 2019-2023.

5. No error
Answer : annual report on the international arm market,

Direction:

Given below isa sentence that may have an error. Theerror if any, will bein one part of the given sentence. Choose
the part from the options given below the sentence, which containstheerror. If thereisno error, choose option e
‘noerror’.

e Question No. 36

While substantial global changes occurred across the world, India, all the while, remained the higher importer of

arms, accounting for nearly 10% of global imports in 2019-2023.
Options:

1. While substantial global changes

2. occurred across the world, India, all the while,

3. remained the higher importer of arms,

4. accounting for nearly 10% of global imports in 2019-2023.

5. No error
Answer : remained the higher importer of arms,

Direction:

Given below isa sentencethat may havean error. Theerror if any, will bein one part of the given sentence. Choose
the part from the options given below the sentence, which containstheerror. If thereisno error, choose option e
‘noerror’.
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e Question No. 37

International sanctions and domestic re-arming requirements following its invasion of Ukraine in 2022 pushed the

country in being the second-largest arms exporter, just behind the United States, to the third-largest today.
Options:

1. International sanctions and domestic re-arming requirements
2. following its invasion of Ukraine in 2022 pushed the country
3.in being the second-largest arms exporter,

4. just behind the United States, to the third-largest today.

5. No error
Answer : in being the second-largest arms exporter,

Direction:

Given below isa sentence that may have an error. Theerror if any, will bein one part of the given sentence. Choose
the part from the options given below the sentence, which containstheerror. If thereisno error, choose option e
‘noerror’.

e Question No. 38

India, both as an arms importer, and increasingly, an exporter too, will naturally have to adjust to these changed

dynamics, primarily because Russia is a leading supplier of arms in the country.
Options:

1. India, both as an arms importer, and increasingly,

2. an exporter too, will naturally have to adjust

3. to these changed dynamics, primarily because Russia
4.is a leading supplier of arms in the country

5. No error
Answer : is a leading supplier of arms in the country

Direction:
Below is given a passage with 4 blanks each numbered. Choose the correct option that can fill each blank.
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First, increasing threats from China 39. necessitated the need for more sophisticated weapons, and

thishas ___________ 40. the position of suppliers like the U.S,, Israel, and France, which are more capable of

supplying ___________ 41. systems. Second, the Russia-Ukraine conflict in 2014 had already created obstacles in

procuring Russian equipment. The subsequent invasion of Ukraine in 2022 42. New Delhi's predicament

as the U.S. sanctions regime threatened to hurt companies and countries that continued to import Russian
products. Third, India's policy to domestically manufacture arms under the Make in India initiative promotes

indigenous production.

Question No. 39
Fill blank number 39 with the correct option:
Options:

1. Have

2. Had

3. Has

4. Has been

5. Had been
Answer : Have

Direction:
Below is given a passage with 4 blanks each numbered. Choose the correct option that can fill each blank.

First, increasing threats from China 39. necessitated the need for more sophisticated weapons, and

thishas ___________ 40. the position of suppliers like the U.S,, Israel, and France, which are more capable of

supplying ___________ 41. systems. Second, the Russia-Ukraine conflict in 2014 had already created obstacles in

procuring Russian equipment. The subsequent invasion of Ukraine in 2022 42. New Delhi's predicament

as the U.S. sanctions regime threatened to hurt companies and countries that continued to import Russian
products. Third, India's policy to domestically manufacture arms under the Make in India initiative promotes

indigenous production.

Question No. 40

Fill blank number 40 with the correct option:



0D
ixam Pees @

Options:

1. Alleviate
2. Elevated
3. Elated

4. Reiterated

5. Amalgamated
Answer : Elevated

Direction:
Below is given a passage with 4 blanks each numbered. Choose the correct option that can fill each blank.

39. necessitated the need for more sophisticated weapons, and

thishas ___________ 40. the position of suppliers like the U.S,, Israel, and France, which are more capable of

supplying ___________ 41. systems. Second, the Russia-Ukraine conflict in 2014 had already created obstacles in

procuring Russian equipment. The subsequent invasion of Ukraine in 2022 42. New Delhi's predicament

as the U.S. sanctions regime threatened to hurt companies and countries that continued to import Russian
products. Third, India's policy to domestically manufacture arms under the Make in India initiative promotes

indigenous production.
Question No. 41
Fill blank number 41 with the correct option:

Options:

1. Primitive

2. Advanced
3. Civilized

4. Disparaging

5. Obscure
Answer : Advanced

Direction:
Below is given a passage with 4 blanks each numbered. Choose the correct option that can fill each blank.
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First, increasing threats from China 39. necessitated the need for more sophisticated weapons, and

thishas ___________ 40. the position of suppliers like the U.S,, Israel, and France, which are more capable of

supplying ___________ 41. systems. Second, the Russia-Ukraine conflict in 2014 had already created obstacles in

procuring Russian equipment. The subsequent invasion of Ukraine in 2022 42. New Delhi's predicament

as the U.S. sanctions regime threatened to hurt companies and countries that continued to import Russian
products. Third, India's policy to domestically manufacture arms under the Make in India initiative promotes

indigenous production.

Question No. 42
Fill blank number 42 with the correct option:
Options:

1. Exaggerated
2. Exacerbated
3. Intricated

4. External

5. Egregious
Answer : Exacerbated

Direction:
Fill in the blank with the correct option from the options given below:

Question No. 43

Despite the traffic jam, we managed to to the airport just in time for our flight.

Options:

1. put up

2. get away
3. set off
4.run out

5. pull over



Answer : set off

Direction:
Fill in the blank with the correct option from the options given below:

Question No. 44

She decided to from her job and pursue her passion for painting full-time.

Options:

1. take up
2.givein
3. put off
4. break down

5. step down

Answer : step down

Direction:
Fill in the blank with the correct option from the options given below:

Question No. 45

The meeting was postponed, so we need to our plans for the weekend getaway.

Options:

1. make up

2. catch up

3. call off

4. look forward

5. go through

Answer : call off

Direction:
Fill in the blank with the correct pair of options from the options given below:
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e Question No. 46

The teacher __________ the students' assignments meticulously, and then

feedback to help them

improve.
Options:

1. Scrutinized, implemented

2. Scrutinized away, abandoned
3. Scrutinized off, dismantled

4. Scrutinized in, terminated

5. None of the above
Answer : Scrutinized, implemented

Direction:
Fill in the blank with the correct pair of options from the options given below:

e Question No. 47

Thechef ___ a new recipe for the restaurant's menu, and the customers

it with rave reviews.

Options:

1. Crafted, approved

2. Crafted away, abandoned
3. Crafted off, dismantled

4. Crafted in, terminated

5. None of the above
Answer : Crafted, approved

Direction:

Given below isa sentence with four highlighted words. The words may or may not bein their correct positions. If
required rearrange thewordsin correct order to make the sentence meaningful.

e Question No. 48
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India's demand for more numerical P technology than what Russia can offer offset Q from the need to arisesR

China's sophisticated S superiority in weapons systems, from aircraft and drones to submarines and aircraft carriers.
Options:

1. Only P-Q
2.P-QandR-S
3.P-Sand R-Q
4.Only P-R

5. No rearrangement required
Answer : P-S and R-Q

Direction:

Given below isa sentence with four highlighted words. The words may or may not bein their correct positions. If
required rearrange thewordsin correct order to make the sentence meaningful.

e Question No. 49

This is in line with the precision P underlying the US's 'Second Offset Strategy', whichfocuses Q on the

development of rationale R weapons to counter S Soviet numerical superiority in the European theatre.
Options:

1. Only P-S
2.P-QandR-S
3.0nly R-S
4. Only P-R

5. No rearrangement required
Answer : Only P-R

Direction:
Choose a correct idiom to fill the blank:

e Question No. 50
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After several unsuccessful attempts to revive the failing business, the bankruptcy announcement served as the

for the company's prospects.

Options:

1. final nail in the coffin

2. Cost of arm and a leg

3. The nail hitting on the head
4. Biting of the bullet

5. Breaking the ice

Answer : final nail in the coffin

e Question No. 51

What is the total investment for establishing 500 new 'waste to wealth' plants under the GOBARdhan scheme

announced by Smt. Nirmala Sitharaman in FY Budget 2023-24?

Options:

1. Rs 5,000 crore
2.Rs 7,500 crore
3.Rs 10,000 crore
4. Rs 12,500 crore

5.Rs 15,000 crore

Answer : Rs 10,000 crore

e Question No. 52

Which interest rate is offered under the PM Vishwakarma Scheme for collateral-free credit support?

Options:

1.2%
2.3%

3.4%
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4.5%

5.55%

Answer : 5%

e Question No. 53

What is India's current rank on the 17 Sustainable Development Goals (SDG) index?

Options:
1.112
2.1M4
3.125

4.117

5.120

Answer : 120

e Question No. 54

Which Indian state achieved the first rank in the composite SDG Index according to the Baseline Report released by

NITI Aayog?
Options:

1. Kerala

2. Himachal Pradesh
3. Andhra Pradesh
4. Telangana

5. Tamil Nadu

Answer : Kerala

e Question No. 55



0D
ixam Pees @

According to the National Education Policy (NEP) 2020, which governmental body is responsible for conducting

university entrance exams?
Options:

1. NSEIT Ltd

2. PARAKH

3. National Board of Examinations
4. National Testing Agency

5. Central Board of Secondary Education

Answer : National Testing Agency

e Question No. 56

In accordance with the National Education Policy 2020, what is the annual requirement for teacher training in terms

of Continuous Professional Development (CPD) hours?
Options:

1.25
2.30
3.35
4.40

5.50

Answer : 50

e Question No. 57

Under the National Education Policy 2020, what is the designated name for the organization tasked with

developing a unified set of guiding principles for teachers, known as the 'Professional Standard Setting Body

(PSSB)'?
Options:

1. National Council for Teacher Education (NCTE)



2. National Professional Standards for Teachers (NPST)
3. Professional Standard Setting Body (PSSB)
4. General Education Council (GEC)

5. General Professional Education Council (GPEC)

Answer : National Council for Teacher Education (NCTE)

e Question No. 58

What is one characteristic of a Laissez-Faire leadership style?

Options:

1. A leader takes charge

2. A leader gives opinion only when asked

3. Everyone works together and participates together
4. Nobody gives any suggestions or instructions

5. A leader tells others what to do

Answer : A leader gives opinion only when asked

e Question No. 59

What is the primary responsibility of a manager within an organization?

Options:

1. Supervising financial transactions

2. Handling customer complaints

3. Managing resources and ensuring organizational efficiency
4. Developing marketing strategies

5. Conducting product research and development

Answer : Managing resources and ensuring organizational efficiency

e Question No. 60
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Planning, organizing, directing and controlling are the:
Options:

1. Goals of management.

2. Functions of management.
3. Results of management.

4. A & B both

5. all of the above.

Answer : Functions of management.

e Question No. 61
What is the term for the process of seeking suitable candidates for job positions and encouraging them to apply?
Options:

1. Selection
2. Hiring

3. Evaluation
4. Training

5. Recruitment

Answer : Recruitment

e Question No. 62
What is the first step of the process of staffing in an organisation?
Options:

1. Notification

2. Recruitment

3. Selection

4. Performance appraisal

5. Evaluate manpower requirement
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Answer : Evaluate manpower requirement

e Question No. 63
By what methodology is the NSE/BSE Index calculated?
Options:

1. Total Market Capitalization

2. Weighted Average Market Capitalization
3. Free-float Market Capitalization

4. Price-Weighted Index

5. Equal Weighted Index

Answer : Free-float Market Capitalization

e Question No. 64
Which institution is primarily responsible for safeguarding and managing a country's foreign exchange reserves?
Options:

1. IFSCA

2. Ministry of Finance

3. State Bank of India (SBI)

4. Reserve Bank of India (RBI)

5. Securities and Exchange Board of India (SEBI)

Answer : Reserve Bank of India (RBI)

e Question No. 65
Who regulates the issuance and trading of commercial paper in India?
Options:

1. Ministry of Finance



ixam

2. Reserve Bank of India (RBI)
3. Securities and Exchange Board of India (SEBI)
4. Insurance Regulatory and Development Authority of India (IRDAI)

5. Fixed Income Money Market and Derivatives Association of India (FIMMDA)

Answer : Reserve Bank of India (RBI)

e Question No. 66
To whom does NABARD extend refinance assistance?
Options:

1. State co-operative banks

2. Regional rural banks

3. Scheduled commercial banks
4. A & B both

5. all of the above

Answer : all of the above

e Question No. 67
What is the main advantage that ABC Corporation has derived from adopting accounting standards?
Options:

1. Reduction in financial transparency.

2. Complexity in financial reporting

3. Enhanced comparability of financial statements.
4. Decreased stakeholder trust.

5. Increase stakeholder trust

Answer : Enhanced comparability of financial statements.

e Question No. 68

0(6



What does the Working Capital Turnover Ratio measure?

Options:

1. The ratio between fixed assets and current liabilities

2. The ratio between net revenue and working capital

3. The ratio between net income and total assets

4. The ratio between inventory turnover and accounts payable

5. The ratio between long-term debt and equity

Answer : The ratio between net revenue and working capital

e Question No. 69

What does operating leverage measure in cost accounting and finance?

Options:

1. The ability of a firm to increase revenue by reducing variable costs
2. The proportion of revenue allocated to operating expenses

3. The ratio of fixed costs to variable costs

4. The efficiency of a firm's production process

5. The extent to which a firm can increase operating income by increasing revenue

Answer : The extent to which a firm can increase operating income by increasing revenue

e Question No.70

What type of measure is financial performance considered to be?

Options:

1. Objective measure

2. Quantitative measure
3. Subjective measure
4. Descriptive measure

5. Comparative measure
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Answer : Subjective measure

e Question No. 71
What is the limitation on the total amount of depreciation for an asset?
Options:

1. Depreciable value
2. Scrap value

3. Market value

4. Intrinsic Value

5. None of these

Answer : Depreciable value

e Question No. 72
Which regulatory body oversees Limited Liability Partnerships (LLPs) in India?
Options:

1. Securities and Exchange Board of India (SEBI)
2. Ministry of Finance

3. Reserve Bank of India (RBI)

4. Ministry of Corporate Affairs (MCA)

5. Institute of Chartered Accountants of India (ICAI)

Answer : Ministry of Corporate Affairs (MCA)

e Question No.73
What is the title given to the head of a Joint Hindu Family (HUF) business?
Options:

1. Manager



2. Director
3. Karta
4. Executor

5. Chairman

Answer : Karta

e Question No. 74

data processed regularly in batch processing?

Options:

1. Small

2. Large

3. Medium

4. job programming

5. program queue

Answer : Large

e Question No. 75

What is the most effective method for boosting the sales of a product?

Options:

1. Exhibition

2. Fairs

3. Word of Mouth
4. Advertisement

5. None of these

Answer : Advertisement

Direction:
Answer the questions based on the information given below:
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Nine persons L, M, N, O, P, Q, R, S and T sit in a linear row, such that some of them face north and remaining face
south direction. Not more than two adjacent persons face in the same direction. T sits second from one of the
extreme end of the row. M sits third to the left of T. L sits second to the left of M. L doesn't sit adjacent to T. S sits
immediate left of L, who faces north. Both Q and N sit immediate right to each other. Three persons sit between Q

and P, who doesn't sit adjacent to L. R, who faces in same direction as O, sits adjacent to P.

Question No. 76
Who sits second to the right of S?
Options:

1.Q
2.R
3.P
4.N

5. None of the above
Answer: P

Direction:
Answer the questions based on the information given below:

Nine persons L, M, N, O, P, Q, R, S and T sit in a linear row, such that some of them face north and remaining face
south direction. Not more than two adjacent persons face in the same direction. T sits second from one of the
extreme end of the row. M sits third to the left of T. L sits second to the left of M. L doesn’t sit adjacent to T. S sits
immediate left of L, who faces north. Both Q and N sit immediate right to each other. Three persons sit between Q

and P, who doesn’t sit adjacent to L. R, who faces in same direction as O, sits adjacent to P.
Question No. 77

How many persons sit between R and L?

Options:

1. Three

2.0ne
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3. Four
4. Two

5. None of the above
Answer : Three

Direction:

Answer the questions based on the information given below:

Nine persons L, M, N, O, P, Q, R, S and T sit in a linear row, such that some of them face north and remaining face
south direction. Not more than two adjacent persons face in the same direction. T sits second from one of the
extreme end of the row. M sits third to the left of T. L sits second to the left of M. L doesn’t sit adjacent to T. S sits
immediate left of L, who faces north. Both Q and N sit immediate right to each other. Three persons sit between Q

and P, who doesn't sit adjacent to L. R, who faces in same direction as O, sits adjacent to P.

Question No. 78
Find the odd one out.
Options:

1P
2.Q
3.7
4.0

5.R
Answer: T

Direction:

Answer the questions based on the infor mation given below:

Nine persons L, M, N, O, P, Q, R, S and T sit in a linear row, such that some of them face north and remaining face
south direction. Not more than two adjacent persons face in the same direction. T sits second from one of the
extreme end of the row. M sits third to the left of T. L sits second to the left of M. L doesn’t sit adjacent to T. S sits
immediate left of L, who faces north. Both Q and N sit immediate right to each other. Three persons sit between Q

and P, who doesn't sit adjacent to L. R, who faces in same direction as O, sits adjacent to P.
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e Question No. 79
Which of the following statement is definitely true?
Options:

1. M faces north

2. Q sits immediate left of L

3. Five persons sit between P and Q
4. R sits second to the right of O

5. M sits immediate left of S
Answer : R sits second to the right of O

Direction:

Answer the questions based on theinformation given below:

Nine persons L, M, N, O, P, Q, R, S and T sit in a linear row, such that some of them face north and remaining face
south direction. Not more than two adjacent persons face in the same direction. T sits second from one of the
extreme end of the row. M sits third to the left of T. L sits second to the left of M. L doesn’t sit adjacent to T. S sits
immediate left of L, who faces north. Both Q and N sit immediate right to each other. Three persons sit between Q

and P, who doesn't sit adjacent to L. R, who faces in same direction as O, sits adjacent to P.
e Question No. 80

What is the position of R with respect to L?

Options:

1. Fifth to the right
2. Fourth to the left
3. Third to the right
4. Fifth to the left

5. None of the above
Answer : Fourth to the left

Direction:
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Answer the questions based on the information given below:

A family consists of eight members F, G, H, |, J, K, L and M. There are 2 married couples in the family and there is no
single parent. | is the son of F, who is married to G. M is the sister of I. G is the only daughter of H, who has 3

children. J is not a male member in the family.

Question No. 81
How is H related to L?
Options:

1. Father
2. Mother
3. Aunt

4. Brother

5. None of the above
Answer : Father

Direction:

Answer the questions based on the information given below:

A family consists of eight members F, G, H, |, J, K, L and M. There are 2 married couples in the family and there is no
single parent. | is the son of F, who is married to G. M is the sister of I. G is the only daughter of H, who has 3

children. J is not a male member in the family.
Question No. 82
How is J related to I?

Options:

1. Aunt

2. Sister

3. Grandmother

4. Can’t be determined

5. Mother
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Answer : Grandmother

Direction:
Answer the questions based on the information given below:

A family consists of eight members F, G, H, |, J, K, L and M. There are 2 married couples in the family and there is no
single parent. | is the son of F, who is married to G. M is the sister of I. G is the only daughter of H, who has 3

children. J is not a male member in the family.
Question No. 83
If Vis married to M then how is V related to the daughter of H?

Options:

1. Son-in-law
2.Son

3. Brother-in-law
4. Uncle

5. None of the above
Answer : Son-in-law

Direction:
Answer the questions based on the infor mation given below:

A family consists of eight members F, G, H, |, J, K, L and M. There are 2 married couples in the family and there is no
single parent. | is the son of F, who is married to G. M is the sister of I. G is the only daughter of H, who has 3
children. J is not a male member in the family.

Question No. 84

How is F related to L?

Options:

1. Son

2. Son-in-law



0D
ixam Pees @

3. Brother-in-law
4. Father

5. Brother

Answer : Brother-in-law

Question No. 85

If it is possible to form a meaningful English word by using the 3rd’ Sth, 6th, and 7th letter (from the left end) of the
word ‘PLATTER’ then which of the following will be second letter of the word formed from the left end. If more
than one such meaningful word is formed mark ‘Z” as your answer. If no meaningful word is formed, mark ‘X" as your

answer?
Options:

1E
2.A
3.7
4. X

5.7
Answer: Z

Direction:

Introduction: Inference is a conclusion drawn on the basis of knowledge of facts available. In questions on
INFERENCES, a paragraph is followed by few Paragraphs. On the basis of the information given in the passage, we
have to check the truthfulness or falsity of the given Paragraph. Each Paragraph can be put into one of the four

categories.

definitely true
probably true
probably false

definitely false
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Directions: In each question below is given a passage followed by some inferences. You have to examine each
inference separately in the context of the passage and decide upon the degree of truth or falsity of the inference.

Mark answer

Question No. 86

Par agraph:

Until the 1850’s, Herman Melville primarily published novels, including Moby Dick, which would later become one of
America’s most famous and beloved novels. His novels, however, had extremely low sales, and Melville had to quit
writing novels because no publisher would agree to print his books. In an effort to make more money from his
writing, Melville chose to publish some poetry instead. Poetry was extremely popular and sold well in 19th-century
America, so Melville expected to make a profit from his first book of poems. These poems, however, were as

unpopular as his novels, and sold scarcely any copies.

Inference:

Had publisher agreed to print Melville’s books, Melville would have continued writing the novels.
Options:

1. if you think that the answer is definitely true.

2. if you think that the answer is probably true.

3.if the data provided is inadequate to answer the question.
4. if the answer is definitely false.

5.if the answer is probably false.
Answer : if you think that the answer is probably true.

Direction:

Introduction: Inference is a conclusion drawn on the basis of knowledge of facts available. In questions on
INFERENCES, a paragraph is followed by few Paragraphs. On the basis of the information given in the passage, we
have to check the truthfulness or falsity of the given Paragraph. Each Paragraph can be put into one of the four

categories.
definitely true

probably true
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probably false
definitely false

Directions: In each question below is given a passage followed by some inferences. You have to examine each
inference separately in the context of the passage and decide upon the degree of truth or falsity of the inference.

Mark answer

Question No. 87

Par agraph:

Until the 1850’s, Herman Melville primarily published novels, including Moby Dick, which would later become one of
America’s most famous and beloved novels. His novels, however, had extremely low sales, and Melville had to quit
writing novels because no publisher would agree to print his books. In an effort to make more money from his
writing, Melville chose to publish some poetry instead. Poetry was extremely popular and sold well in 19th-century
America, so Melville expected to make a profit from his first book of poems. These poems, however, were as

unpopular as his novels, and sold scarcely any copies.

Inference:

Melville novels did not yield a significant profit for Melville.
Options:

1. if you think that the answer is definitely true.

2. if you think that the answer is probably true.

3.if the data provided is inadequate to answer the question.
4. if the answer is definitely false.

5.if the answer is probably false.
Answer : if you think that the answer is definitely true.

Direction:

Introduction: Inference is a conclusion drawn on the basis of knowledge of facts available. In questions on
INFERENCES, a paragraph is followed by few Paragraphs. On the basis of the information given in the passage, we
have to check the truthfulness or falsity of the given Paragraph. Each Paragraph can be put into one of the four

categories.
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definitely true
probably true

probably false
definitely false

Directions: In each question below is given a passage followed by some inferences. You have to examine each
inference separately in the context of the passage and decide upon the degree of truth or falsity of the inference.

Mark answer

Question No. 88

Par agraph:

Until the 1850’s, Herman Melville primarily published novels, including Moby Dick, which would later become one of
America’s most famous and beloved novels. His novels, however, had extremely low sales, and Melville had to quit
writing novels because no publisher would agree to print his books. In an effort to make more money from his
writing, Melville chose to publish some poetry instead. Poetry was extremely popular and sold well in 19th-century
America, so Melville expected to make a profit from his first book of poems. These poems, however, were as

unpopular as his novels, and sold scarcely any copies.

I nference:
Writing poem or novel was Melville’s only possible way of making money.
Options:

1.if you think that the answer is definitely true.

2. if you think that the answer is probably true.

3.if the data provided is inadequate to answer the question.
4. if the answer is definitely false.

5.if the answer is probably false.
Answer : if the answer is probably false.

Direction:
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Introduction: Inference is a conclusion drawn on the basis of knowledge of facts available. In questions on
INFERENCES, a paragraph is followed by few Paragraphs. On the basis of the information given in the passage, we
have to check the truthfulness or falsity of the given Paragraph. Each Paragraph can be put into one of the four

categories.
definitely true
probably true
probably false
definitely false

Directions: In each question below is given a passage followed by some inferences. You have to examine each
inference separately in the context of the passage and decide upon the degree of truth or falsity of the inference.

Mark answer

Question No. 89

Par agraph:

Until the 1850’s, Herman Melville primarily published novels, including Moby Dick, which would later become one of
America’s most famous and beloved novels. His novels, however, had extremely low sales, and Melville had to quit
writing novels because no publisher would agree to print his books. In an effort to make more money from his
writing, Melville chose to publish some poetry instead. Poetry was extremely popular and sold well in 19th-century
America, so Melville expected to make a profit from his first book of poems. These poems, however, were as

unpopular as his novels, and sold scarcely any copies.

Inference:

Melville’s Novel “Moby Dick” was not famous prior to the year 1850.
Options:

1.if you think that the answer is definitely true.
2. if you think that the answer is probably true.
3.if the data provided is inadequate to answer the question.

4. if the answer is definitely false.
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5.if the answer is probably false.
Answer : if you think that the answer is definitely true.

Direction:

Introduction: Inference is a conclusion drawn on the basis of knowledge of facts available. In questions on
INFERENCES, a paragraph is followed by few Paragraphs. On the basis of the information given in the passage, we
have to check the truthfulness or falsity of the given Paragraph. Each Paragraph can be put into one of the four

categories.
definitely true
probably true
probably false
definitely false

Directions: In each question below is given a passage followed by some inferences. You have to examine each
inference separately in the context of the passage and decide upon the degree of truth or falsity of the inference.

Mark answer

Question No. 90

Paragraph:

Until the 1850’s, Herman Melville primarily published novels, including Moby Dick, which would later become one of
America’s most famous and beloved novels. His novels, however, had extremely low sales, and Melville had to quit
writing novels because no publisher would agree to print his books. In an effort to make more money from his
writing, Melville chose to publish some poetry instead. Poetry was extremely popular and sold well in 19th-century
America, so Melville expected to make a profit from his first book of poems. These poems, however, were as

unpopular as his novels, and sold scarcely any copies.

Inference:

Melville’s Poems were not as well-written as Melville’s novels.

Options:
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1. if you think that the answer is definitely true.

2. if you think that the answer is probably true.

3.if the data provided is inadequate to answer the question.
4. if the answer is definitely false.

5. if the answer is probably false.
Answer : if the data provided is inadequate to answer the question.

Direction:

In the question below some statements ar e given followed by three conclusions|, |1, and I11. You haveto takethe
given statementsto betrue even if they seem to be at variance with commonly known facts. Read all the conclusions
and then decide which of the given conclusion definitely follows from the given statements, disregarding commonly
known facts.

Question No. 91

Statements:

All Pearl are Flower.

Some Bud are Pearl.

No Flower is a Stem.

Conclusions:

|. Some Bud are Flower is a possibility.
Il. Some Pearl are Stem is a possibility.
Ill. Some Stem are Bud.

Options:

1. Only Conclusion | and Il follow
2. Only Conclusion Il and IlI follow
3. Only Conclusion Ill and | follow
4. Only Conclusion Il follows

5. None of the Conclusions follows

Answer : None of the Conclusions follows
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Direction:

In the question below some statements ar e given followed by three conclusions|, |1, and I11. You haveto takethe
given statementsto be true even if they seem to be at variance with commonly known facts. Read all the conclusions
and then decide which of the given conclusion definitely follows from the given statements, disregar ding commonly
known facts.

e Question No. 92
Statements:
No Platter is a Cup.
Only a few Cup are Spoon.
Only a few Plate are Spoon.
Conclusions:
I. All Spoon are Cup.
II. All Plate are Spoon.
Ill. Some Spoon are not Platter.
Options:

1. Only Conclusion | and Il follow
2. Only Conclusion Il and Il follow
3. Only Conclusion Ill and | follow
4. Only Conclusion lll follows

5. None of the conclusions follows
Answer : Only Conclusion Il follows

Direction:

In the question below some statements ar e given followed by three conclusionsl, |1, and I11. You have to take the
given statementsto betrue even if they seem to be at variance with commonly known facts. Read all the conclusions
and then decide which of the given conclusion definitely follows from the given statements, disregarding commonly
known facts.

e Question No. 93
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Statements:

Only Doctor are Pilots

Some Doctor are not Lawyer

100% Lawyer are Teacher

Conclusions:

I. Some Lawyer are Pilots is a possibility
II. All Doctors are Pilots is a possibility
Ill. Some Teacher are Lawyer

Options:

1. Only Conclusion | and Il follow

2. Only Conclusion Il and Il follow
3. Only Conclusion Il follows

4. All Conclusions |, 11, and lll follows

5. None of the Conclusions follows
Answer : Only Conclusion Il and IlI follow

Direction:

In the question below some statements ar e given followed by three conclusions|, |1, and I11. You haveto takethe
given statementsto be true even if they seem to be at variance with commonly known facts. Read all the conclusions
and then decide which of the given conclusion definitely follows from the given statements, disr egar ding commonly
known facts.

Question No. 94
Statements:

All Plot are Land.
Some Land are Wall.

No Land is a Capital.
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Conclusion:

I. Some Plot are Wall.

IIl. No Plot is a Capital.

Ill. Some Wall are not Capital.
Options:

1. Only conclusion Il follows
2. Only conclusion | follows
3. Only conclusion Il follows
4. Only conclusions Il and Ill follow

5. None of the conclusions follow
Answer : Only conclusions Il and llI follow

Direction:

In the question below some statements ar e given followed by three conclusionsl, II, and I11. You haveto take the
given statementsto betrue even if they seem to be at variance with commonly known facts. Read all the conclusions
and then decide which of the given conclusion definitely follows from the given statements, disregarding commonly
known facts.

Question No. 95

Statements:

Some Biscuits are Cakes.

No Cake is a Candle.

All Candles are Balloons.
Conclusion:

I. All Cakes can be Balloons.

Il. Some Balloons are not Cakes.

IIIl. All Biscuits can be Candles.
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Options:

1. Only conclusion | and Il follow
2. Only conclusion Il and Il follow
3. Only conclusion Il follows

4. Only conclusion I and llI follow

5. None of the conclusion follows
Answer : Only conclusion | and Il follow

Direction:

Answer the questions based on the information given below:

Seven persons namely, L, M, N, O, P, Q and R, go for attending seminar in seven different months from March to
September, but not necessarily in the same order. All the persons go in the same year. O goes in the month having
only 30 days. Three persons go between O and R. Two persons go between M and N. P goes before N. L goes just

after N. Q does not go before R. Not more than two persons go between P and O.

Question No. 96
Who among the following person goes in August?
Options:

1N
2.Q
3R
4. M

5. None of the above
Answer: R

Direction:

Answer the questions based on the information given below:

Seven persons namely, L, M, N, O, P, Q and R, go for attending seminar in seven different months from March to
September, but not necessarily in the same order. All the persons go in the same year. O goes in the month having

only 30 days. Three persons go between O and R. Two persons go between M and N. P goes before N. L goes just
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after N. Q does not go before R. Not more than two persons go between P and O.

e Question No. 97
How many persons go before P?
Options:

1. Two
2. Three
3.0ne
4. Four

5. Cannot be determined
Answer : Two

Direction:
Answer the questions based on the infor mation given below:

Seven persons namely, L, M, N, O, P, Q and R, go for attending seminar in seven different months from March to
September, but not necessarily in the same order. All the persons go in the same year. O goes in the month having
only 30 days. Three persons go between O and R. Two persons go between M and N. P goes before N. L goes just

after N. Q does not go before R. Not more than two persons go between P and O.
e Question No. 98
Which person goes three months before Q?

Options:

1R
2.M
3.L
4.N

5P
Answer : N

Direction:
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Answer the questions based on the information given below:

Seven persons namely, L, M, N, O, P, Q and R, go for attending seminar in seven different months from March to
September, but not necessarily in the same order. All the persons go in the same year. O goes in the month having
only 30 days. Three persons go between O and R. Two persons go between M and N. P goes before N. L goes just

after N. Q does not go before R. Not more than two persons go between P and O.

Question No. 99
Who among the following person goes in July?
Options:

1L

2.Q
3.N
4 M

5. None of the above
Answer: L

Direction:
Answer the questions based on theinformation given below:

Seven persons namely, L, M, N, O, P, Q and R, go for attending seminar in seven different months from March to
September, but not necessarily in the same order. All the persons go in the same year. O goes in the month having
only 30 days. Three persons go between O and R. Two persons go between M and N. P goes before N. L goes just

after N. Q does not go before R. Not more than two persons go between P and O.

Question No. 100

Four of the following five are alike in a certain way and thus form a group. Choose the one which doesn't belong to

the group.
Options:

1M

2.Q
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3.P
4.1

5.R

Answer: Q

Attempt Mock Test Now
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